PreCalculus
January Examination

Answer the following fully and completely using nouns, verbs, and ly-words. Fully document your path to solution.

1. Using the JANCIR file, get the data needed to create the parametric pair that models the location of the center of the circle as it is rotated around a point. Report the pairs with a plot.

2. Name the circle that has a center at ((x-5),(y+7)) and diameter (R-7)2. Show how you would graph this circle.

3. What reaction time would be just a bit slower than needed to catch a meter stick in the $100 dropping game? How do you know?


4. Use Hero's square root algorithm to determine the square root of 7. Calculate the percent error you get with his method.


5. Use your Quadratic Program to fill in the table below:

	Vertex
	Standard
	Intercept
	A
	B
	C
	h
	k
	P
	Q
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